Wheels - Drive Wheels for Non-Free Wheel Hubs

Gearless/Brushless motors were made available on-chair as an option for Storm Arrow, Ranger X and
Torque on 11/2/98. On 7/1/99, Gearless/Brushless motors became standard for Storm Arrow only.

ltem #s 1, 2, and 3

Item #1
Wheel Item #1 Complete ltem #2 Itgm #2 Iltem #3
: Complete . Tire w/
Size Wheel Tire Tube
Wheel Flat Free
w/ Flat Free
14x4 1042476 1042477 1042474 1042478 1042475
4 Pole Motors

14 x 4"
GB Motors 1079305-NLA 1079304 1042474 1042478 1042475
See Note(s) A

14 x 3"
4 Pole and 1039653 1041449-NLA 1039652 1101754 1039651
GB Motors

NOTE:

A - For drive wheel rims and attaching hardware for the Gearless/Brushless 14 x 4" Wheel, see "Drive Wheels and Attaching
Hardware for Free Wheel Hub Mounts".




Wheels - Drive Wheels for Non-Free Wheel Hubs

Gearless/Brushless motors were made available on-chair as an option for Storm Arrow, Ranger X and
Torque on 11/2/98. On 7/1/99, Gearless/Brushless motors became standard for Storm Arrow only.

Quantity Per
Item
Number| Note | Part Number |Description Package | Assembly
1-3 See Chart #s 1, 2, and 3 Drive Wheels for Non-Free Wheel 1 1
Hubs
4 1042453-NLA | NLA - Kit, 6" Rim w/ Hardware (14" x 4" Wheel) 1 1
4 1090651-NLA | NLA - Kit, 8" Rim w/ Hardware (14" x 3" Wheel) 1 1
A 1008030-NLA | NLA - Screw, Hex Head (3/8-16 x 3/4") 1 6
A 1005519 NLA - Lockwasher (3/8 x 11/16 x 3/32") 1 6
A |18058X000-NLA | NLA - Nut, Hex (3/8-16) 1 6
B 1024443-NLA | NLA - Screw, Hex Head (5/16-24 x 5/8") 1 6
B 1024442-NLA | NLA - Washer, Lock (5/16 x 9/16 x 1/16") 1 6
B 1024426-NLA | NLA - Nut, Hex (5/16-24) 1 6
CD 7930326-NLA | NLA - Package, Screw, Hex Head (1/4-20 x 3/4") 25 8
C,D 7930333 Locknut (1/4-20) 25 8
D |40176X010-NLA | NLA - Pump, Tire 1 1
NOTE: - Included with Part Number 1042453 before 3/4/98.

- Included with Part Number 1042453 after 3/3/98.
- Included with Part Number 1090651.
- Not Shown.




